Chapter 9 review



Solve the following using any method you like:
1.  			2.  			3.  



4.  			5.  			6.  



7.   			8.  			9.  
10. You set up a scrapbook business and make an initial investment of $50,000. The unit cost of a scrapbook kit is $12 and the selling price is $25. How many kits must you sell to break even?
11. Sketch the graph and label the vertices of the feasible region.


a.  		b. 
12. Sketch the region determined by the constraints. Then find the minimum and maximum values of the objective function. 


	Objective function: 	Constraints:        
13. For the following problems define your variables and write constraints and find the profit equation. Don’t solve
a. A new clothing company wants to make shorts and tank tops. Each pair of shorts nets the company $12.00 in profit and each tank top nets the company $8.00 in profit. Both shorts and take tops require sewing and cutting. 
Shorts take 2 hours to cut and tank tops take 1.5 hours to cut out. The cutting machine is available 25 hours per
week.
Shorts take 4 hours to sew and tank tops take 3 hours to sew. The sewing machine is available 35 hours per week.
[image: ]b. [image: ]
Chapter 9 review



Solve the following using any method you like:
1.  			2.  			3.  



4.  			5.  			6.  



7.   			8.  			9.  
10. You set up a scrapbook business and make an initial investment of $50,000. The unit cost of a scrapbook kit is $12 and the selling price is $25. How many kits must you sell to break even?
11. Sketch the graph and label the vertices of the feasible region.


a.  		b. 
12. Sketch the region determined by the constraints. Then find the minimum and maximum values of the objective function. 


[bookmark: _GoBack]	Objective function: 	Constraints:        
13. For the following problems define your variables and write constraints and find the profit equation. Don’t solve
a. A new clothing company wants to make shorts and tank tops. Each pair of shorts nets the company $12.00 in profit and each tank top nets the company $8.00 in profit. Both shorts and take tops require sewing and cutting. 
Shorts take 2 hours to cut and tank tops take 1.5 hours to cut out. The cutting machine is available 25 hours per
week.
Shorts take 4 hours to sew and tank tops take 3 hours to sew. The sewing machine is available 35 hours per week.
[image: ]b. [image: ]

oleObject3.bin

image4.wmf
2

63

23

yxx

xy

=-+

+=


oleObject4.bin

image5.wmf
26

643

512

xyz

xyz

xz

-+=-

-++=

+=-


oleObject5.bin

image6.wmf
23521

630

420

xyz

xy

z

-++=-

-=

-=


oleObject6.bin

image7.wmf
43625

317

36

xyz

xy

x

-+=

+=-

=-


oleObject7.bin

image8.wmf
45

4325

22

xyz

xyz

xz

-+=

+-=

+=


oleObject8.bin

image9.wmf
334

3

xy

xy

-+=

-=-


oleObject9.bin

image10.wmf
216

318

0

0

xy

xy

x

y

+£

+£

³

³


oleObject10.bin

image11.wmf
230

28

0

xy

xy

y

-³

-<

³


oleObject11.bin

image12.wmf
511

zxy

=+


oleObject12.bin

image13.wmf
0                       0

312             3215

xy

xyxy

³³

+£+£


oleObject13.bin

image14.png
‘The total times available for assembling, painting, and
packaging are 4000 hours, 4800 hours, and 1500
hours, respectively. The profits per unit are $45 for
model A and $50 for model B. What is the optimal
production level for each model? What is the optimal
profit?
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OPTIMAL PROFIT A manufacturer produces two
models of bicycles. The times (in hours) required for
assembling, painting. and packaging each model are
shown in the table.

Hours, Hours,

Process  fodelA  model B

2 25
4 1
1 075
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